2021 NCAA CHAMPIONS • 6 NATIONAL CHAMPIONSHIP APPEARANCES • 28 NCAA TOURNAMENTS • 57 ALL-AMERICANS • 9 BIG TEN CHAMPIONSHIPS

NEW FACES, SAME EXPECTATIONS AT WISCONSIN

UW Fleld House | Madison, Wis.

WISCONSIN BADGERS

Head Coach: Kelly Sheffield

Overall Record: 591-180 (.767) (25th year) | Wisconsin Record: 318-68 (.824) (13th year)

SETTING THE STAGE

- The 2025 Badgers are picked to finish third in the 2025 Big Ten Preseason Poll, behind Penn State and Nebraska. The Badgers finished third in 2024 with a Regional Final appearance.
- Seniors Carter Booth, Mimi Colyer, and sophomore Charlie Fuerbringer were named the All-Big Ten Preseason Team.
- Outside hitter Mimi Colyer and setter Charlie Fuerbringer were named to the AVCA National Player of the Year Watch List.
- The Badgers welcome a total of 10 new faces to this year's team, including five freshmen.
- Mimi Colyer (Oregon), Alicia Andrew (Baylor), Grace Lopez (Miami (FL)), Grace Egan (Ohio St.), and Jada Cerniglia (NIU) transferred to Wisconsin this last winter and spring.
- This year's coaching staff will look a little different. Lauren Carlini has been promoted as a full-time Assistant Coach, while Gary White takes on the title of Director of Player Personnel and Analytics. Wisconsin also adds John Shondell as an Assistant Coach, and Associate Head Coach Brittany Dildine remains on staff as an Associate Head Coach.

NOTES

ALL FOR THE "W"

- Wisconsin volleyball has finished ranked in the Top 10, 11 out of the last 12 seasons in the AVCA poll.
- The Badgers have also finished ranked in the Top 10 for seven-straight seasons in the AVCA poll.

NEW KIDS ON THE BLOCK

- ◆ Over the winter of 2024-25, the Badgers signed three transfers that joined the Badgers in the spring. Senior outside hitter **Mimi Colyer** from Oregon, junior right side **Grace Lopez** from Miami (FL) and outside hitter redshirt-freshman **Grace Egan** from Ohio State.
- ◆ Mimi Colyer arrives to Madison with all the accolades under her belt. The outside was named the 2022 AVCA National Freshman of the Year, two All-Pac-12 accolades, two AVCA All-Region honors and three AVCA All American awards. A six-rotation player, in 2024, Colyer averaged 3.97 kills/set and put away double-digit kills in 28 of 32 matches and five 20-kill performances. After joining the Big Ten this year, she also added All-Big Ten First Team honors to her list.
- ◆ Grace Egan joins the Badgers after putting up a career night in the Ohio State vs Wisconsin match, where she

- put away 22 kills. She averages 2.53 kills per set and 2.03 digs per set.
- ◆ Grace Lopez is a two-time AVCA All-American, opposite. Lopez
- ◆ Jada Cerniglia is a grad student, arriving to Madison after four seasons at Northern Illinois University. The libero/defensive specialist saw action in 34 matches and 14 sets, posting 1.35 digs per set in 2024.

FRESH(MAN) FACES

- Two freshman joined the Badgers this past spring, as they graduated high school early to get to campus, this includes Madison Quest and Addy Horner.
- ◆ Addy Horner, a 6-3 setter/right side from Wheaton, Illinois was ranked the No. 1 setter and the No. 2 player in Illinois by PrepDig.com. She was also ranked the No. 16 player in the nation and the No. 18 player in the class of 2025 by PrepDig.com.
- ◆ Madison Quest, a 6-3 outside hitter from Pewaukee, Wisconsin was ranked the No. 1 player in Wisconsin and the No. 17 player in the nation by PrepDig. com. she was also a finalist for the Class of 2025 National Player of the Year.
- ◆ Kristen Simon, Natalie Wardlow, and Aniya Warren arrived this summer.

Overall: 0	-0	
Big Ten:	0-0	
AUG. 20	NOTRE DAME (Exhibition)	1 PI
	SPIKE CLASSIC	IPI
	KANSAS	6 PI
		1 PI
SEPT. 4	UC DAVIS	7 PI
SEPT. 5	CHICAGO STATE	7 PI
SEPT. 9	MILWAUKEE	7 PI
SEPT. 12	AT GEORGIA TECH	ТВІ
SEPT. 21	AT MARQUETTE	ТВІ
SEPT. 26	FLORIDA	NOOI
SEPT. 26	RUTGERS*	7 PI
SEPT. 28	AT IOWA*	2 PI
OCT. 2	ILLINOIS*	7 PI
OCT. 5	MICHIGAN*	7 PI
OCT. 10	AT PENN STATE*	6 PI
OCT. 12	AT MARYLAND*	1 PI
OCT. 17	UCLA*	7 PI
OCT. 19	USC*	1 PI
OCT. 24	AT WASHINGTON*	ТВІ
OCT.26	AT OREGON	TBI
NOV. 2	AT OHIO STATE*	11 Al
NOV. 5	MINNESOTA*	TBI
NOV. 9	INDIANA	1 PI
NOV. 14	AT MICHIGAN STATE*	TBI
NOV. 15	AT ILLINOIS*	8 PI
NOV. 19	PURUDE*	7 PI
NOV. 23	IOWA*	1 PI
NOV. 26	AT NORTHWESTERN*	TBI
NOV. 28	AT MINNESOTA*	8 PI
NCAA TO	URNAMENT	
DEC. 4-6	1ST & 2ND ROUNDS	ТВІ
DEC. 11-1	2 REGIONALS	TBI
DEC. 13-1	4 REGIONAL FINALS	TBI
DEC. 18-2	21 NATIONAL CHAMPIONSHIP	ТВІ
* Blg Te	n Match	
HOME	ii iiidtoii	

- comes in as the No. 70 ranked player in the Class of 2025 by Prep Dig, and No. 19 by PrepVolleyball.com
- ♦ Wardlow, a 6-4 middle blocker will also arrive this summer. She has been ranked No. 18 by PrepVolleyball.com and No. 17 by Prep Dig.
- ♦ Previously committed to Purdue last fall. Warren flipped to the Red and White. Warren is ranked as the No. 1 libero by Prep Dig.

LOOK WHO'S BACK

- ♦ Returning starters for the Badgers include Charlie Fuerbringer, Lola Schumacher and Carter Booth.
- ◆ Charlie Fuerbringer
 - ♦ 10.96 assists/set (4th in the Big Ten)
 - ♦ .30 aces/set
 - ♦ 2.49 digs/set
 - ♦ 11 double-doubles
- Carter Booth
 - ♦ 1.69 kills/set
 - ♦ 1.36 blocks/set (5th in the Big Ten)
- → Joining them is Tosia Serafinowska, Maile Chan, Morgan Van Wie, Trinity Shadd-Ceres and Una Vajagic.

STAFFING CHANGES

- ♦ As of July 23, head coach Kelly Sheffield announced the following staffing changes:
 - ♦ Gary White Director of Player Personnel and Analytics
 - ♦ Lauren Carlini Assistant Coach
 - ♦ John Shondell Assistant Coach
 - ♦ Brittany Dildine Associate Head Coach (same title)

NOT GOODBYE, SEE YOU SOON

- ♦ Longtime Badger assistant, Annemarie Hickey departed Wisconsin volleyball in June to take on a full-time assistant coaching position with LOVB Madison.
- ♦ Hickey spent 15 season with UW both as a student-athlete and assistant coach.
- ♦ Hickey was an assistant coach with LOVB Madison's inaugural season.

BADGERS ON THE NATIONAL STAGE

- ♦ Four Badgers represented thier countries this summer in the VNL's and the upcoming World Championships.
- ♦ Dana Rettke and Sarah Franklin played in this summer's VNL's for the United States. Both have been named to the wide roster of the World Championships in Thailand this fall.

- ◆ Simon, a 5-7 libero/defensive specialist | ◆ Anna Smrek reprented Canada at the VNL's. Smrek competed in all three legs of the VNLs. Smrek has also been named to Canada's wide roster for the World Championships.
 - ♦ Julia Orzol was named to Poland's wide roster for the VNL's and the upcoming World Championships. Orzol didnt' see time as she has been nursing a lower leg injury.

IT RUNS IN THE (UW) FAMILY

- ♦ Jada Cerniglia's parents, Aleah (Coughlin) and Mike Cerniglia both played for Wisconsin during their respective time at UW.
 - ♦ Aleah (Coughlin) played volleyball under John Cook in 1993.
 - ♦ Mike played for the men's hockey team from 1996-2001. Mike later served on the administrative staff as the Executive Director of the National W Club.
 - ♦ Jada's brother played football at NIU for three seasons, before finishing his collegiate career as a Bdger in 2023.
- ◆ Madison Quest's parents are also UW alumn who played for the Badgers.
 - ◆ Pauline (Bresky) played volleyball under John Cook from 1995-1998. She started as an outside hitter and finished as a defensive specialist. Bresky helped the Badgers to it's second Big Ten title in 1997.
 - ♦ Dad. Matt Quest was a walk-on for the men's basketball team in 1996-1997 and saw action in 10 games.

APPLE DOESN'T FALL FAR FROM THE TREE

- ♦ In addition to Cerniglia and Quest's parents playing collegiately, senior Mimi Colyer's and sophomore Charlie Fuerbringer's parents also have a respective collegiate and professional careers.
- ♦ Nique (Crump) Colyer, mother of Mimi, played at Long Beach State from 1994-1997.
 - ♦ Jersey No. 15 Mimi is also No. 15
 - ♦ Helped LBS to a Final Four appearance in 1997.
 - ♦ In 1997, she led the nation in hitting percentage at .428
 - ♦ 1996 AVCA All-America Honorable Mention
 - ♦ 3x All-Big West
 - ♦ Currently ranks in LBS Top-10 categories; Kills (10th/1,235), Block solos (5th/95), Block assists (3rd), and Attack percentage (4th)
- ♦ Matt and Joy (McKienzie) Fuerbringer are no strangers to the game of volleyball.

- ♦ Joy also played at Long Beach State (her and Nique just missed each other) from 1990-1993.
- In 1993, she helped her team to a National Championship, was named AVCA All-America Second team and an All-Northwest Region First Team honoree.
- ♦ Also in 1993, LBS played at the UW Field House to beat Penn State for the National Championship.
- ♦ She also was the head coach at LBS from 2017-2021.
- ♦ Matt Fuerbringer is a four-time All-American at Stanford from 1994-1997, and helped the Cardinals to a National Championships in 1997.
- ♦ Won MPSF and AVCA Freshman of the Year honors and left as the alltime kills leader at Stanford.
- ◆ Played indoor professionally from 1998-2003 in Austria, Spain, and Greece.
- ♦ After his indoor career. Fuerbringer spent a decade as a professional on the sand from 2003-2012. He was the AVP Rooke of the Year in 2003. and won eight tournaments in his career, and reached a career-best ranking of No. 5 in the world.
- ♦ Currently serves as the head coach of LOVB Madison.

BADGERS IN THE PROS

- ♦ The Badgers totaled 11 alumnae playing professionally overseas, LOVB, or Pro Volleyball Federation (PVF).
- LOVB Madison
 - ♦ Lauren Carlini, Sarah Franklin, Temi Thomas-Ailara, Annemarie Hickey (Assistant Coach)
- ♦ Indy Ignite (PVF)
 - ♦ Sydney Hilley, CC Crawford, Izzy Ashburn (Assistant Coach)
- ♦ Grand Rapids Michigan
- ♦ Devyn Robinson
- ♦ Vegas Thrill
 - ♦ Grace Loberg
- ◆ Lotto Chemik Police (Poland)
 - ♦ Julia Orzol
- ♦ Eczacbasi Dynavit (Turkey)
 - ◆ Dana Rettke
- ♦ Vero Volley Milano (Italy)
 - ♦ Anna Smrek

ALOHA HAWAI'I

- ♦ Over spring break, the Badgers headed to Hawaii to play the University of Hawaii in the first two spring matches of the 2025 season.
- ♦ In the first match, Wisconsin dropped the first set after a slow start, but then

- gained control in the next three to take the match 3-1.
- In the second matchup in two days, the Badgers came out on top once again, 3-1, after dropping the first set.
- Mimi Colyer led the Badgers with 32 kills between the two matches, as Carter Booth added 19, Madison Quest chipped in 12 and Grace Egan finished with 10.

RED & WHITE REWIND: A LOOK BACK AT 2024

- ♦ The Badgers finished 26-7 overall and 17-3 in conference play, finishing third in the Big Ten. That marks the tenth time in the last 12 years that UW has finished third or better in the conference. Wisconsin finished 7th in the final RPI.
- Wisconsin advanced to the Regional final vs Nebraska, but ultimately fell 0-3, bringing the 2024 campaign to a close.
- ♦ Finished second in the nation for the sixth-straight year with 122,207 accumulative fans in 2024, selling out 13-of-16 home matches. Wisconsin has ranked in the top-10 nationally for attendance for 34-straight years (not including 2020) and in the top-five for 24-straight years.
- ♦ Post season honors:

ALL-BIG TEN

- ◆ Sarah Franklin First Team and Player of the Year
- ◆ Anna Smrek First Team
- Julia Orzol Second Team & All-Sportsmanship Award
- ♦ Carter Booth Second Team
- ◆ Charlie Fuerbringer Second Team and Unanimous All-Freshman Team
- ♦ Lola Schumacher All-Freshman

AVCA ALL-REGION (NORTH)

- ◆ Sarah Franklin All-Region & All-Region Player of the Year
- ◆ Charlie Fuerbringer All-Region & All-Region Freshman of the Year
- ♦ Carter Booth All-Region
- ♦ Anna Smrek All-Region
- ◆ Devyn Robinson All-Region Honorable Mention

AVCA ALL-AMERICAN

- ♦ Sarah Franklin First Team
- ♦ Charlie Fuerbringer Third team

VOLLEYBALLMAG ALL-AMERICAN

- ♦ Sarah Franklin First Team
- ♦ Charlie Fuerbringer Third Team
- ♦ Anna Smrek Fourth Team

CSC Academic All-America

- ♦ Julia Orzol Second Team
 - This marks the second straight year Orzol was named an

Academic All-American. In 2023, she was named Third Team.

BIG TEN STANDINGS as of Aug. 16, 2025

TEAM	BIG TEN	OVERALL
Illinois		
Indiana		
Iowa		
Maryland		
Michigan		
Michigan State		
Minnesota		
Nebraska		
Northwestern		
Ohio State		
Oregon		
Penn State		
Purdue		
Rutgers		
UCLA		
USC		
Washington		
Wisconisn		

CAREER COUNTDOWN

as of Aug. 16, 2025

500 BLOCKS Carter Booth28
200 BLOCKS Allie Andrew7
1,500 KILLS Mimi Colyer39
1,000 DIGS Mmi Colyer191
1,500 ASSISTS Charlie fuerbringer230
50 SERVICE ACES Charlie Fuerbringer13

FOLLOW THE #BADGERS

SOCIAL MEDIA:

Twitter: @BadgerVBInstagram: badgervb

Facebook: /WisconsinVolleyballYouTube: /WisconsinBadgers

ATHLETIC COMMUNICATIONS

- Ashley Steltenpohl, Assistant Director
- Cell: (608) 572-1135

Requests for credentials to cover UW volleyball should be emailed to Ashley Steltenpohl at least five days in advance of a match. Credentials will be left with the parking attendant at the entrance to parking lot 18 or at the Pass Gate of the Field House. PRESEASON **GENERAL NOTES**

THE SHEFFIELD FILE

- Ranks fifth nationally for most wins over last 10-plus years (292)
- Ranks fifth nationally for best winning percentage over last 12 years (.824)
- Highest winning percentage (.824) of any UW volleyball coach
- All-time winningest Badger coach in Big Ten play (191)
- · Ranks second among current Big Ten coaches in overall winning percentage (.824)
- Record vs. ranked teams at UW: 108-55 (.662)
- Badgers are 248-28 (.899) when win first set and 211-4 (.981) when win first two sets under Sheffield

National Team Members

- Lauren Carlini 2016-2024.
 Julie Mikaelsen (Norway) 2015-Present
- Danielle Hart 2022-2022. Sarah Franklin - 2025-Present
- Sydney Hilley 2022-2022.

 Anna Smrek (Canada) 2025-Present
 Dana Rettke 2019-pres.

 Julia Orzol (Poland) 2025-Present
- Claudia Rodriguez (Mexico) 2001-2014
- Romana Kriskova (Slovakia) 2017-2022

National Awards

- Lauren Carlini 2017 Sullivan Award
- Sarah Franklin 2023 AVCA National Player of the Year
- Dana Rettke 2021 AVCA National Player of the Year
- Dana Rettke 2017 AVCA National Freshman of the Year

AVCA Regional Awards

- Sarah Franklin 2023 NE Regional Player of the Year
- Molly Haggerty 2016 NE Regional Freshman of the Year
- Dana Rettke 2019, '20, '21 NE Regional Player of the Year

All-Americans

- Lauren Barnes 2020, '21
- · Carter Booth 2023
- Lauren Carlini 2013, '14, '15, '16
- Ellen Chapman 2013
- Tiffany Clark 2018
- Madison Duello 2018
- Sarah Franklin 2022, '23, '24
- Charlie Fuerbringer 2024
- Molly Haggerty 2016, '19, '20
- Danielle Hart 2022
- Sydney Hilley 2019, '20, 21
- Grace Loberg 2019, '20 Taylor Morey 2014
- Haleigh Nelson 2015, '16
- Dana Rettke 2017, '18, '19, '20, '21
- Devyn Robinson 2020, '22, '23
- Anna Smrek 2023
- Courtney Thomas 2014
- Dominique Thompson 2014
- Tionna Williams 2015, '16, '17

Big Ten Awards

- Lauren Carlini Big Ten Player of the Year 2014
- Lauren Carlini Big Ten Setter of the Year 2014, '15
- Sarah Franklin Big Ten Player of the Year 2023, 2024
- Molly Haggerty Big Ten Freshman of the Year 2016
- Sydney Hilley Big Ten Setter of the Year 2019, '20, 21
- Taylor Morey Big Ten Defensive Player of the Year 2014
- Julia Orzoł Big Ten Freshman of the Year 2021
- Dana Rettke Big Ten Player of the Year 2019
- Dana Rettke Big Ten Freshman of the Year 2017

First-Team All-Big Ten

- Carter Booth 2023
- Lauren Carlini 2013, '14, '15, '16
- Madison Duello 2018
- Sarah Franklin 2022, '23, '24
- Danielle Hart 2022
- Sydney Hilley 2018, '19, '20, 21 Grace Loberg 2019, '20 Taylor Morey 2014

- Haleigh Nelson 2015, '16
- Dana Rettke 2017, '18, '19, '20, '21
- Devyn Robinson 2020, '22
- Anna Smrek 2023, '24
- Courtney Thomas 2014
 - Tionna Williams 2016

HEAD COACH KELLY SHEFFIELD

- 2021 NCAA CHAMPIONS
- 12-straight NCAA Sweet 16-or-better tournament
- 2013, 2019, 2020, 2021 and 2022 NCAA Final Fours
- 2014, 2019, 2020, 2021 and 2022 Big Ten Champions; ranks second among all Big Ten coaches for most championships won
- Ended the last 11 seasons ranked in the top 12 nation-
- 20 athletes have earned 44 All-America honors at UW
- 14 athletes have earned 26 first-team All-Big Ten honors
- Ranked second nationally in attendance in 2018, 2019, 2021, 2022 and 2023
- 2013 VolleyballMag.com National Coach of the Year
- 2010, 2012, 2014, 2016, 2019, 2022 and 2023 AVCA Northeast Regional Coach of the Year
- Eight-time conference coach of the year
- Coached nine conference players of the year, including three at Wisconsin (Carlini, Rettke and
- Never played competitive volleyball
- Native of Muncie, Indiana
- 2001 graduate of Ball State with a degree in general studies
- Married to Cathy (Arnette), who played volleyball at Villanova and Virginia
- Has two daughters-Lexi (14) and Reagan (12)
- Huge fans of 70s music; loves to recite movie lines; deaf in his left ear

SHEFFIELD YEAR-BY-YEAR

Year	Team	Record	Pct.	Conf.	Record	Pct.	Finish	Postseason
2024	Wisconsin	26-7	.788	Big Ten	17-3	.850	3rd	NCAA Elite Eight (3-1)
2023	Wisconsin	30-4	.882	Big Ten	15-3	.833	2nd	NCAA Final Four (4-1)
2022	Wisconsin	28-4	.875	Big Ten	19-1	.950	1st	NCAA Elite Eight (3-1)
2021	Wisconsin	31-3	.912	Big Ten	17-3	.850	1st	NCAA Champions (6-0)
2020	Wisconsin	16-1*	.941	Big Ten	13-0*	1.000	1st	NCAA Final Four (3-1)
2019	Wisconsin	27-7	.794	Big Ten	18-2	.900	1st	NCAA Runners Up (5-1)
2018	Wisconsin	25-7	.781	Big Ten	15-5	.750	T3rd	NCAA Elite Eight (3-1)
2017	Wisconsin	22-10	.688	Big Ten	11-9	.550	T7th	NCAA Sweet 16 (2-1)
2016	Wisconsin	28-5	.848	Big Ten	17-3	.850	T2nd	NCAA Elite Eight (3-1)
2015	Wisconsin	26-7	.813	Big Ten	16-4	.800	3rd	NCAA Sweet 16 (2-1)
2014	Wisconsin	31-3	.911	Big Ten	19-1	.950	1st	NCAA Elite Eight (3-1)
2013	Wisconsin	28-10	.737	Big Ten	12-8	.600	T4th	NCAA Runners Up (5-1)
Total	12 years	318-68	.824		191-42	.819		12 years (42-11—.792)
2010			244	111 11 10	44.0	4.000		110110 15 1/1/1
2012	Dayton	27-5	.844	Atlantic 10	14-0	1.000	1st	NCAA 2nd Round (1-1)
2011	Dayton	25-7	.781	Atlantic 10	14-1	.933	1st	NCAA 1st Round (0-1)
2010	Dayton	28-4	.875	Atlantic 10	15-0	1.000	1st	NCAA 2nd Round (1-1)
2009	Dayton	30-4	.882	Atlantic 10	14-1	.933	1st	NCAA 2nd Round (1-1)
2008	Dayton	21-13	.618	Atlantic 10	11-2	.846	2nd	NCAA 1st Round (0-1)
Total	5 years	131-33	.799		68-4	.944		5 years (3-5—.375)
0007	A.II	04.40	700		0.4	000	0 1	NOAA O LD L(4.4)
2007	Albany	24-10	.706	America East	9-4	.692	2nd	NCAA 2nd Round (1-1)
2006	Albany	19-13	.593	America East	10-2	.833	1st	NCAA 1st Round (0-1)
2005	Albany	28-4	.875	America East	11-1	.917	1st	
2004	Albany	27-7	.794	America East	13-1	.929	1st	NCAA 1st Round (0-1)
2003	Albany	24-10	.706	America East	9-5	.643	4th	
2002	Albany	16-15	.516	America East	5-7	.417	4th	
2001	Albany	4-20	.167	America East	1-13	.071	8th	
Total	7 years	142-79	.643		58-33	.637		3 years (1-3—.333)
24 ye	ars	591-179	.767					20 years (46-18—,718)

Match records at Wisconsin under Sheffield

* Does not include two wins via forfeit that are recognized by the Big Ten but are considered no contest by the NCAA

	3 sets	4 sets	5 sets		3 sets	4 sets	5 sets		3 sets	4 sets	5 sets
2013	10-3	14-4	4-3	2017	18-1	4-5	0-4	2021	19-0	8-2	4-1
2014	22-1	7-1	2-1	2018	15-1	6-5	4-1	2022	17-1	8-0	3-3
2015	19-1	6-2	1-4	2019	21-2	5-3	1-2	2023	22-0	5-2	3-2
2016	17-2	5-0	6-3	2020	12-0	3-0	1-0	Totals	192-12	71-24	29-24
									(.941)	(.747)	(.547)

PRESEASON GENERAL NOTES



QUICK FACTS

- Built: 1929-30
- · Broke ground: Sept. 26, 1929
- · Opened: Dec. 13, 1930
- Construction cost: \$434,000 (\$12.9 million in 2023)
- Listed on the National Register of Historic Places.
- Original capacity was 8,000 as the "Barn" was built without the upper balcony. The balcony was added in 1939, raising the seating capacity to 12,000.
- The facility had a dirt floor for many years and an eighth-of-a-mile track encircled the perimeter of the building.
- Home of the UW boxing team from 1933-60, when boxing was an NCAA sport. An all-sport record crowd of 15,200 watched the Wisconsin vs. Washington State boxing match in 1949
- Used a training facility for the track, football and baseball teams until the Shell was built in 1956.
- Muhammad Ali suffered one of his few losses as an amateur boxer during the 1959 Pan American Games trials.
- Notable speakers include thenpresidential candidate John F.
 Kennedy in 1960, Archbishop Desmond Tutu, Reverend Jesse Jackson, Bob Hope and the Dalai Lama.
- Other events held in the building include basketball, wrestling, concerts, carnivals and Native American pow wows.

UW FIELD HOUSE

t's a landmark building in a number of ways. From being listed on the National Register of Historic Places to the record-setting attendances and the momentous wins, the Wisconsin Field House is a memorable place steeped in a rich history.

Since it was built, the Field House has been the site of numerous sporting events including basketball, boxing, track and field, and wrestling. It also hosted UW commencement exercises, carnivals and speakers, including John F. Kennedy.

The Badger volleyball team first competed in the Field House in 1977 when it hosted the Big Ten Tournament. UW didn't return to the building until 1980, hosting two tournaments. Wisconsin's play in the Field House was sporadic until 1986 when it became the permanent home of volleyball. With the construction of the Kohl Center in 1998, volleyball took over possession of the Field House for practice and competition. The building is also used as the competition site for the wrestling team.

As the sole occupant of the UW Field House, UW has made the building one of the finest volleyball facilities in the country. A new wood floor was installed in 2013, making the volleyball court the center of attention. In 2020, the building was renovated with new windows installed, marking the first time since the late 1960s that the windows have been uncovered during a match.

Volleyball facilities include a team room for relaxing, studying, as well as a video room separate from the locker room. The team room features a large-screen television, leather sofas, pub tables and chairs, and a kitchenette.

The renovation of Camp Randall Stadium in 2005 included improvements to the north end of the Field House including updated restrooms as well as a new media room and opponent locker rooms on the lower level. In 2021, the entire upper deck was opened for the first time since the 2007 season while in 2022, chairback seats on the east side and Bucky's Balcony on the north end were added as well as increased ADA seating.

UVV	rieia	nouse	Record

	Year	Record
	Atten./Avg.	
	1977	1-1 (.500)
	NA 1978	4.2 / 571)
	NA	4-3 (.571)
	1982	5-5 (.500)
	NA	0 0 (.000)
	1983	7-3 (.700)
	NA	
	1984	0-5 (.000)
	NA 1985	2-8 (.200)
	NA	2-0 (.200)
	1986	7-7 (.500)
	3,205/14 = 229	9
	1987	14-2 (.875)
	5,678/16 = 334	
	1988 5,994/14 = 428	10-4 (.714)
	1989	12-3 (.800)
	12,265/15 = 8	, ,
	1990	15-3 (.833)
	39,850/18 = 2,	,199
	1991	16-4 (.800)
1002	44,868/20 = 2,	
1992 1993	8-10 (.444) 8-10 (.444)	23,046/18 = 1,450
	` '	23,496/18 = 1,566
1994	13-3 (.813)	30,788/16 = 1,924
1995	9-5 (.643)	26,811/14 = 1,915
1996 1997	12-2 (.857)	31,057/14 = 2,218
1998	16-2 (.889) 13-1 (.929)	62,227/18 = 3,457 41,052/14 = 2,932*
1999	12-3 (.800)	29,586/15 = 1,972
2000	16-1 (.941)	53,365/17 = 3,139
2001	14-1 (.933)	56,180/15 = 3,745
2002	14-3 (.824)	59,958/17 = 3,527
2003	12-3 (.800)	64,405/15 = 4,294
2004	14-3 (.824)	69,350/17 = 4,079
2005	13-2 (.867)	56,373/15 = 3,758
2006	15-2 (.882)	73,576/17 = 4,328
2007	12-3 (.800)	75,750/15 = 5,050
2008	7-6 (.538)	56,539/13 = 4,349
2009	4-9 (.308)	52,004/13 = 4,000
2010	7-7 (.500)	52,323/14 = 3,737
2011	6-7 (.462)	49,281/13 = 3,791
2012	6-7 (.462)	52,260/16 = 3,291
2013	10-5 (.667)	52,685/15 = 3,512
2014	14-1 (.933)	73,999/15 = 4,933
2015	15-2 (.882)	85,774/17 = 5,046
2016	14-2 (.875)	94,829/16 = 5,927
2017	12-4 (.750)	95,680/16 = 5,980
2018	12-3 (.800)	95,581/14 = 6,827
2019	14-3 (.824)	119,884/17 = 7,052
2020	6-0 (1.000)	NA
2021	18-1 (.947)	142,571/19 = 7,503
2022	16-1 (.941)	122,868/17 = 7,228*
2023	17-0 (1.000)	122,748/17 = 7,220
2024	15-1 ((.938)	122,207/16 = 7,638
Total	470-178 (.725)	44 years

*Does not include matches played in the Kohl Center NA— No attendance allowed due to COVID19 PRESEASON GENERAL NOTES

WISCONSIN VOLLEYBALL

NUMERICAL ROSTER # **NAME** HT. POS. YR. HOMETOWN/HIGH SCHOOL (PREVIOUS) 6-0 OH R-SO 1 Una Vajagić Novi Sad, Serbia/Jedinstvo Stara Pazova 2 6-3 S/RS FR Wheaton, III./St. Francis College Prep Addy Horner 6 ОН SO Trinity Shadd-Ceres 5-11 Ontario, Canada/Cameron Heights L/DS 7 5-8 FR Louisville, Ky./Assumption Kristen Simon 8 Morgan Van Wie 6-0 S SO Waunakee, Wis./Waunakee 10 6-3 ОН FR Pewaukee, Wis./Divine Savior Holy Angels Madison Quest 6-4 MB FR 12 Natalie Wardlow Lincoln, Neb./Lincoln Southeast L/DS GR 13 Jada Cerniglia 5-3 Cross Plains, Wis./NIU 15 Mimi Colyer 6-3 OH SR Lincoln, Calif./Oregon L/DS 5-8 FR 16 Aniya Warren Lockport, III./Benet Academy 17 Alicia Andrew 6-3 MB R-SR Ridgefield, Wash. Baylor 18 Maile Chan 5-3 L/DS SO Portland, Ore./Mountainside 19 Tosia Serafinowska 6-4 MB SO Kiekrz, Poland/GKS Wiezyca 2011 Stezyca OPP JR 23 Grace Lopez 6-1 Aguada, Puerto Rico/Miami (FL) Hermosa Beach, Calif./Mira Costa S SO 24 Charlie Fuerbringer 5-11 32 6-1 ОН R-SO Sterling, III./Ohio State Grace Egan

SR

Denver, Colo./Minnesota

Name Pos. 17 MB Alicia Andrew 52 Carter Booth MB 13 Jada Cerniglia L/DS L/DS 18 Maile Chan 15 Mimi Colver OH 32 Grace Egan ОН 24 Charlie Fuerbringer 2 Addy Horner S/RS 23 OPP Grace Lopez

ALPHABETICAL ROSTER

7 Kristen Simon L/DS 1 Una Vajagić OH 8 Morgan Van Wie S 12 Natalie Wardlow MB 16 Aniya Warren L/DS

Madison Quest

Tosia Serafinowski

Trinity Shadd-Ceres

OH

MB

ОН

10

19

6

VOLLEYBALL STAFF

Head Coach: Kelly Sheffield

Carter Booth

52

Associate Head Coach: Brittany Dildine

Assistant Coaches: Lauren Carlini, John Shondell Director of Player Personnel and Analytics: Gary White

6-7

MB

Director of Operations: Jessica Williams

Director of Olympic Strength & Conditioning Coach: Kevin Schultz

Director of Meditation Training: Chad McGehee

Athletic Trainer: Kristy Walker

BY GEOGRAPHY

Illinios	3
Wisconsin	3
California	2
Kentucky	1
Nebraska	1
Washington	1
Puerto Rico	1
Poland	1
Serbia	1
Canada	1
Oregon	1
Colorado	1

PRONUNCIATIONS

#1	Una Va-hague-ick
#6	Trinity SHAD-series
	Jada CHUR-kneel-yuh
	Mimi Call-yur
	Charlie FUR-bringer
#24	Chanie FUR-bringer

BY CLASS

Freshmen	5
Sophomore	5
R-Sophomore	2
Junior	1
Senior	2
R-Senior	1
Grad	1